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PART - A

Note: finswer any five questions. (5x2=10 Marks)

1. Show [‘haI j(2) = xy + iy is everywhare continuous but is not analytic.
g State Cauchy's integral formiula for derivatives.

2. Show that f(z) = '—: has removable singularity.

- 5 I —_— ¥ H
?panc f{z) = - abou' z = 2 in Taylor's series.
Ex

press f(x) = x as half- range sine series in 0 < x < 2.
6. Write Fourier series expansior: of even periodic function f{x)in (—¢,c).
7. Form the partial differeniial equation by eliminating the arbitrary function from
v = (0 +y)B(x% - y?).
8. Solve xp + yq = 3z.
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9. Classify the partial differental equaticn 3-; N -1»}3 = 0.
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i Solve — = ‘jtf using ine separation of variables,
_ s§Q® PART - B R

Note: Answer any four c&@ ions, {4x15=60 Marks)
‘b' - ]
o Find 'k’ such t! WLYY = x° - 3kay® is harmonic and find its harmonic

_conjugats, 2P

qiwa!;is:ate‘jf"—:— dz.00)z| = 3, using Cauchy's integ: 2l formuia

{z+i)}

* 4 Evaluate 56-(“—'* dz . whrere cis |zt = 5.
Fo+4)
ind the pilinear fransicrm.sion which maps the points
(1,6, =1)of = — plane to {2,i, =2) of w = piane
1 rind the Fourier series expansion of following periodic funcuion f(x) of narin =
. 2+ x =2< .
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i4. @) Finc the general solution of the partial differential equation
(v 4 72ip + (o + ") = x + y.
b) Sclve (D + 1D - "1y, = sin(2x + 3v).
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= [ is picked

5 An elastic string bf length [ which is fast atitsend x = 0 and x |
) point + oot of est. Find the

up atits center peint x = /2 to a height of h and released from 1
lateral displacement of the string at any instant time.

W% Expand f(7) = — IM.} as Laurent's series in the region
o<z - 1<1 (i) 0 <|z| <2,

%SO[VL 2./p 3Jq = 6x + 2y.

{7 a) Show that /(2 = 715 continuous at the point z = 0 put not differentiable
at 7 =10. -
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%Express f(x) # = as a Fourier seties in —-m <x < 7.
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